

**BID NUMBER - PURCH 2017-100
AGGREGATE MATERIALS**

BID COMPARISON

Bidder	2" Wash Gravel			3/4" Wash Gravel			Pea Gravel			3/4" Bluestone			2" Bluestone		
	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total
Howlin Concrete Inc.	NA	100	NA	\$29.65	500	\$14,825.00	\$26.65	100	\$2,665.00	\$28.37	100	\$2,837.00	\$27.80	100	\$2,780.00
Chaney Enterprises Limited Partnership	\$26.00	100	\$2,600.00	\$26.00	500	\$13,000.00	\$26.00	100	\$2,600.00	\$26.00	100	\$2,600.00	\$26.00	100	\$2,600.00
Recycled Aggregates	\$35.00	100	\$3,500.00	\$36.00	500	\$18,000.00	\$36.00	100	\$3,600.00	\$34.00	100	\$3,400.00	\$33.50	100	\$3,350.00
Kellys Trucking	\$38.25	100	\$3,825.00	\$37.20	500	\$18,600.00	\$37.20	100	\$3,720.00	\$38.50	100	\$3,850.00	\$38.25	100	\$3,825.00
Patuxent Materials	\$39.57	100	\$3,957.00	\$39.57	500	\$19,785.00	\$41.07	100	\$4,107.00	\$38.17	100	\$3,817.00	\$39.67	100	\$3,967.00

Bidder	3/8" Bluestone			7" - 12" Bluestone			4" - 8 " Gabion Stone			8" - 15" Class 1 Sidekick			15" - 20" Class 1 Rip Rap		
	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total
***Howlin Concrete Inc.	\$37.97	75	\$2,847.75	\$39.47	100	\$3,947.00	\$35.23	300	\$10,569.00	NA	300	NA	NA	500	NA
Chaney Enterprises Limited Partnership	\$29.00	75	\$2,175.00	NA	100	NA	\$44.00	300	\$13,200.00	\$44.00	300	\$13,200.00	\$44.00	500	\$22,000.00
Recycled Aggregates	\$33.50	75	\$2,512.50	\$37.00	100	\$3,700.00	\$35.00	300	\$10,500.00	\$37.00	300	\$11,100.00	\$42.00	500	\$21,000.00
Kellys Trucking	\$41.40	75	\$3,105.00	\$42.60	100	\$4,260.00	\$39.50	300	\$11,850.00	\$42.60	300	\$12,780.00	\$48.30	500	\$24,150.00
Patuxent Materials	\$41.17	75	\$3,087.75	\$63.94	100	\$6,394.00	\$53.94	300	\$16,182.00	\$63.94	300	\$19,182.00	\$73.94	500	\$36,970.00

Bidder	20" - 26" Class 2 Rip Rap			CR-6			Bank Run			Recycled Concrete			Traction Sand		
	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total	Unit Price (per Ton)	Est. Annual Qty	Total
Howlin Concrete Inc.	NA	150	NA	\$23.00	500	\$11,500.00	\$18.00	200	\$3,600.00	\$28.65	100	\$2,865.00	\$31.65	300	\$9,495.00
Chaney Enterprises Limited Partnership	\$44.00	150	\$6,600.00	\$26.00	500	\$13,000.00	NA	200	NA	\$20.00	100	\$2,000.00	\$26.00	300	\$7,800.00
Recycled Aggregates	\$48.00	150	\$7,200.00	\$28.50	500	\$14,250.00	\$24.50	200	\$4,900.00	\$17.00	100	\$1,700.00	\$24.00	300	\$7,200.00
Kellys Trucking	\$51.00	150	\$7,650.00	\$31.50	500	\$15,750.00	NO BID	200	NO BID	\$25.00	100	\$2,500.00	\$39.00	300	\$11,700.00
Patuxent Materials	\$93.94	150	\$14,091.00	\$30.57	500	\$15,285.00	NO BID	200	NO BID	\$23.99	100	\$2,399.00	NO BID	300	NO BID

Bidder	Graded Aggregate Base (GAB 21a)		
	Unit Price (per Ton)	Est. Annual Qty	Total
Howlin Concrete Inc.	\$24.00	100	\$2,400.00
Chaney Enterprises Limited Partnership	\$26.00	100	\$2,600.00
Recycled Aggregates	\$29.00	100	\$2,900.00
Kellys Trucking	\$32.40	100	\$3,240.00
Patuxent Materials	\$31.07	100	\$3,107.00

TOTAL BASED ON ESTIMATED ANNUAL QUANTITIES
\$70,330.75
\$105,975.00
\$118,812.50
\$130,805.00
\$152,330.75

***Howlin Concrete bid on 6" Bluestone and 3"-6" Gabion Stone